
Name ____________________________________________        MTH 1000 - Precalculus 

           

PRACTICE ADVANCED STANDING EXAM 

 [#1-20 are 7 pts each & #21 is 10 pts] 

 

1.  Find the x and y-intercepts for the following: 

  

    32 1000 yx         

  x-int:     y-int: 

 010000 2  xy    3100000 yx   

 1010100010002  xx   1010001000 33  yy  

     10,0  

                           3 pts                                                          4 pts 

 

 

 

  

2. Find the equation of the line (in bmxy   form) that passes through the 

 following points:  1,2 and  5,4   
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m      3 pts get slope 

  bxybmxy  3      

    761231  bbb   3 pts find intercept 

73  xy  1 pt final equation 

 

 

 

 

3. Give the domain of the following functions: 
 

 

  
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4 and 3 r denominatoin  zeros No  xx   3 pts 

 

 

   xxg 40200  50200 40  040200 root under  negatives No  xxx   

                                          (-2 pts if forget to reverse ineq) 

  50,or  50 :Domain x  4 pts final ans 
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10. Find the inverse of the following function: 

 [Be sure to indicate if there are any restrictions on the domain of the inverse.] 

 

2)(  xxf      )(1 xf 22 x    4 pts eq 

 

        Domain: 0 x    3 pts dom 

 

 

 

11. Solve the following equations: 
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    1 pt UHZULWH�DV��¶V & 1 pt proper combinations of exponents & 1 pt solve 
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 

4

4

24log

2

2







ex

xe

xe

    1 pts base e & 2 pts rewrite as exp & 1 pt solve 

 

Solve for x: 

  

12.   1log3log  xx  

2 pts combine logs & 2 pts convert to exp & 2 pts factor poly & 1 pt ans [-1 if no discard x = -2] 
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16. 

  

 

 

 

 

 

 

 

 

Write an equation that describes the above graph: 

 [Note: The angles are in radians and there is no phase shift.] 

5:Amp  

Period: 8 =
2𝜋

𝐵
⟹ 8𝐵 = 2𝜋 ⟹ 𝐵 =

2𝜋

8
=

𝜋

4
   

    

2 pts amp term & 2 pts trig function & 3 pts period/angle term 

17. Find the exact value of the given trig function:  

 (Note: The angles are measured in radians.) 

 

   ExistNot  Does    2 pts   

3
41 coscos 

3
2  2 pts    

 1cos and 1
2
3       QII  tomovecosQIIIin  

3
4    

 

   

3
21tancos 3

5    3 pts 

      , QIV & tantan
3
2
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OPP

3
2

3
21   

     
3
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HYP
ADJcos   

 

18. Prove the following trigonometric identity: 

 



 csccot

cos1
sin 


 

2 pts common denom  &  2 pts s2+ c2=1  & 2 pts factor/cancel & 1 pts final ans 



 

Find the exact value of the following: 

 

19.      

3
21

5
41 tancossin  

 

Use the following formulas to help answer the question above: 

 

 

 

 

 

 

 

 

 

 

 

 
5
4cos A  

3
2tan B  

 

  BABABA sincoscossinsin     3pts   



21. Find the value of   [in radians] 


